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Note: There are thres seclions of the paper, A, B & G. Carefully read. the instructions for each section and attempt
accordlngly Aftempt all questlons of sectlon - (A).arid relum |t fo the supermtendent within the glven fime.

Time: 20 Mms Sectlon o MarKS' 15

Wirite the correct option i.e. A, B, C or D'in the empty box provided opposnte to each-part. Cutting,
erasing and overwrlting will not be awarded.- .

i. -a+bis notafactor of

...............

A & -p? \B@tﬁ v c.at+b’ D.a'-b*
il 8.3x10% In standard form is equal o ......cc..ceveees B '
000083 B. 0.00083 G. 0.0083 D. 0.083
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it & -b = ierenee

A {a-b) (a -ab—bz) toB. (a+6) (a2-ab-b?) C. (a+b) (a*-ab+b?). {p,/(a/_%?#ab%bz)
v, @ W+2=., e s

A= 1) (x+2) B. (x+1) (x~2) i) (x-2) . D) (et 2)
v. Thesolution setof |-} =08 vviiiiensiins - ; ' .
A (-1} L BAL E,G’{O} D.{ })
vi, The point (—-3. ~2) s located in quadrantis..... TR . L
Al B c./m | D.IV

Viil. The only poh_lt lying on both the axes.are ...

CA(0) S B.OY :c(:ﬁ)) m

ﬂ)@ S B e BE B

-EVIII._ \Ela\rl‘hl;:k;gu-drllaterals diagonals are perpendicular to eaph oiher and bisect the figures opposite .
. gle ,
“A Trapeztui*n B. Rectangle . Rhombus i C. Parallslogram
6(. In an equilateral triangle all the perpendlcular blsector are, W,
A. Congruent B, Concurrent G Angle ) D. Paraile! '
bisector '
X An exterior angle of a triangle measures 120“ if measure of one of lts remote-interior angle is 40°,
the measure of the second angleis.
A 40° | B. 70° o c/so" D. 120°
Xi. Whatis the first step in constructing an angle bisector? . B:)]
» « A. Draw aray ) B. Label the pointof.  C. Measure the line I}/Place the compass -
L Intersection . pomt on the vertex @

" 7" 5
Xlil. ~The determinant of the matrix [7 : ) ]ls equal to

LA B. 49 _ \A D119
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A 18 _ 18 _ C.1024 1024 7
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xv. Characteristic of log 4.360 is ..................
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) : Section “B” . Marks: 36
Q.2 Answer any NINE parts of the following. Al parts carry equal marks. :

0 -1 2 -3 '
h ‘lfA=[2 | 1],}3:[1 | 0]show-tha_t(AB)"=B"'A"‘.

ii. & bags and 4 pens together cost 257 rupees, whereas 4 bags and 3 pens cost 324 rupees Flnd the
cost of a bag and 10 pens:

p\PH q \oH r\MP
. -X X

iv. Simplify 73 A2 x 0.00462 x 0.5143 with the help of logarithm,
v. Find the value of dxy, whenx+y=17 and x -y =5.

|
Ji—l

, find the value of x -—1— and x’ +—
. X X
vii. Factorize 20 —~x ~

viii. *Factorize a° - 64b°

vi IFx=

) 1y
iX.  Find the square root of x2+—1— - 8(){ + —) +18
x? x

x. The sum of three consecutive odd mtegers is 81. Find the numbers,
xf. Solve Bx+4 <34, xeN
Xii. Find the L.C.Mof x? — 4 + 3, % — 3x + 2 and ¢ — 6x + 6
: sectlon “C” © Marks; 24
Note: Attempt any THREE questions of the following. All questions carry equal marks.
Q.3 Prove that the points A(1,2), B(3,4) and (0,1) are the vertices of a scalene triangle.

Q4  If two opposite sides of a quadrilateral are congruent, then the quadrilateral is a parallelogram.
Q.6 Any point inside an angle, equidistant from its'arm is on the bisector.

Q.6 Construct AABC, draw their angle bisector and verify their concurrency. mCA 5.8 cm, m£A = 45°

and m£C = 756,
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